Ch Multiplying with a Numberline Name:

Use the numberline to solve each problem. Answers
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ﬂh Multiplying with a Numberline Name._Answer Key

Use the numberline to solve each problem. Answers

1 _ "2
J5x7= QTN T N T TN S o g
B GBS NAEES LSS RPN AR =

2. 21
2) 3X7= 0 | | | | | | | | 1|0 | | | | | | | | I | | | | | |
7)(3: | | | I | | | | | | | | | | | | | I | | 3. 12
_ 6
3) 2><6: 0 | | | | | | | | 1|0 | | | | | | | | 2|0 4
6x2: | | I | | | | | I | | | | | 5. 32
4) 3X2: O | | | | | | 1|0 | | 6 10
2)(3: | | | I | | | | | 1 , 40

O axg= o TN I T TN T B0 T 5. 14
N G B NILE AL LD LS NP LY o
0.

6) 5x2= ! l | 10. 18

2x5=
1. 24

0
I
N 5xg= g TN A0 TN A N N
P L D NN N N UL N
0

8) ox7=

7Tx2=

9 o2x5= 0 0

5x2=

10) 2x9= o 20

Ox2=

11) 4x6= o 10 20

6x4=

ES 1-10 [91|82| 73|64 |55]|45]36]27[18] 9 |

[ M ath ] www.CommonCoreSheets.com




